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BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,462 87020 41516 45504
RIRET1T 5 12 6 6
RIRET2T 27 57 27 30
AIEET3T 176 587 288 299
RIRET4T 390 973 476 497
B 598 1,629 797 832
REH 2,667 6,204 2,910 3,294
L&A 4,225 9,542 4,489 5,053
5E 2,563 6,046 2,941 3,105
B AN 1,259 2,866 1,335 1,531
BERT 1,235 1,908 902 1,006
BER2T 678 1,324 638 686
BHERST 392 892 434 458
g 2,305 4,124 1,974 2,150
BARE 253 645 326 319
= 2,184 5,236 2,476 2,760
hERE 627 1,463 666 797
e 2,395 5211 2,505 2,706
25 L ET 2,249 5,142 2,464 2,678
B &AL BT 80 169 68 101
HEFILET1T 567 1,231 581 650
HEFILET2T 620 1,373 644 729
HEZFILAT3T 610 1,437 707 730
g 1,877 4210 2,000 2,210
B & it B Fr ET 691 1,672 803 869
BHEREBET1T 618 1,267 600 667
BHERERET2T 756 1,764 858 906
BHERERETST 767 1,665 759 906
HERERET4T 450 978 476 502
HEHFMHETST 819 1,696 805 891
HEHFHET6T 878 2,011 961 1,050
HEFRET7T 841 1,878 903 975
HERERETST 70 214 100 114
£t 5199 11473 5,462 6,011
HEF R FET 1,831 3,967 1,939 2,028
S|EFET1T 569 1,524 761 763
S|EFET2T 768 1,837 874 963
S|EFET3 T 719 1,434 671 763
g 2,056 4,795 2,306 2,489
ERE1T 564 1,338 639 699
EIRET2T 389 1,033 516 517
EREIST 468 1,318 641 677
EIRETAT 697 1,542 704 838
EIZEIST 481 1,000 512 488
g 2,599 6,231 3,012 3,219
MEH 2,768 6,338 3,008 3,330
J\THET1T 33 37 14 23
J\THET2T 26 64 31 33
J\THEI3T 57 125 58 67
B 116 226 103 123
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